25m7—)g:l—Z§ﬂ (ZB9 : 00~21:00) (B89 :00~19 :00) 2022, T~
B[l O 1 11 12 S 14 1 128 19 20 21 22
fZH | 2-2 30 45 30 30 15 20 30 10 30 40 20 1620| 30 30 30 30
b WF A=Y Pa=720-L__ W F ¥
6 o WY R BELYRY |
5 ||2U=21A H
W[4 FU=Z A0 2T ; SU-ATA
<) 2U=2TA )
2 * FIRIRIRICR D EEH O { V=24 18 : 30~
2)—=gzx=0 |2U=—0%—29 2=~ ’ J1— 125
{ FeEES o b o T = B 7
K- ARZT =)L f
5100=25A SIS ETN '
7.K 4 7')—2'1’.& ' 18 B &/
[ 3 IY=21 1 { RAZD =
*FIFRKRIC LD ZEH 1D ' [ RAZRZ—
D)—=9A4=2 | 2)—92—=20 |DU—=92—5 i | D=4/ 18 :30~ 21—y 428
{ BFRAIVI| D) =21\ D2ATPARD = H
6 AARD =) | RE—2+4 =7 Y
CHIEDEEZIN )
Kl4 SU—244 SIS P / SUatA
<] =211 ’
2 |+ FRRIRIC KD ZEEH D | ) D—24/ 18:30~
2)—9x—2 |2U—9x—2 21 —Dx—2 e 1 D145
i Ia_ PR 4
(6 ARZT =)y f
5 ||2U=21A 21— 21 1A q
4 =2 Th y St A
3 2U=21N ) RARDT =
2 *FBRRICKDESEH D { | RAZZ—=
1 1DV=92—2 [DU=92—5 |DU—02—2 ’ 2 =24/ 18:30~ S\—1—=5
( oo ) ') —24 I\
| 6 |[I2TPR0 ) i X2 o S| RF RISV Ia PRI 1 19 : 30~
5 |4
T4 IR 19 : 00
| 3 [IPU=21A ) —2A I\ 2U—24Lh | 2U=21 /1 q
2 4 I—2A/ 18: 30~
1 |1DU—92—25 |[DU—5%—2 =94 —47 ) |20 —5%—5
{ H +FUFRISRS (L8O : 00~22 : 00(B + H9 : 00~19 : 00
| 6 [[Daz»PRo-i Sa PR ’ * e
5 D) =5 —2)
B 4 2V—2A I D1 —21( I\ 30 ¢ 2U—21 1
3 ||PU—21 A 45 H AAZRDZ—IU (BRD
2N20=—"22—2 | )= 4—% 2 =91 —2 ) 31— P277—)u (RIBF)
1 12a=ZPRD=I ot =2 2= PRI 1 * HRIRRICEN I— ZNBEZE BT DEaNHDET




